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Applied Science

Full Marks : 70

Pass Marks : 28

There are two parts in the question PART-I
(PHYS)&PART-II (CHEM)

-I -II 

Answer 10 Questions from PART-I and 10 Question from
PART-II, of Group-A each question carries 1 mark.

-A -I 10 -II 10 
1 

Answer 3 Questions from PART-I and 3 Question from
PART-II, of Group-B each question carries 4 mark.
-B -I 3 -II 3 

4 

Answer 2 Questions from PART-I and 2 Question from
PART-II, of Group-C each question carries 6.5 mark.
-C -I 2 -II 2 

6.5 

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.

The figures in right hand margin indicate marks.
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(iii) If a momentum of a body be tripled then its
K.E will be come ........... .

(a) Three times

(b) Six times

(c) Nine times

(d) Eighteen times.

(iii)

(iv) The workdone doesnot depend upon which of
the following?

(a) applied force

(b) displacement force is

(c) angle at which force is indined to the
displacement

(d) initial velocity of the body.

(iv)

Part I (Phy)

GROUP A

1. Choose the most suitable answer from the following
options :

(i) Which of the following is always positive?

(a) Speed

(b) Velocity

(c) Displacement

(d) Aceeleration

(i)

(ii) Impulse means

(a) Change in force

(b) Change in energy

(c) Change in momentum

(d) Change in speed.

(ii)
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(v) Two S.H.M represented by 1 10sin 3
4

y t
   

 

and  2 5sin 3 3 cos3y t t   the ratio of

their amplitudes are

(a) 1:3

(b) 2:1

(c) 3 :1

(d) 3:4

(v) 1 10sin 3
4

y t
   

 

 2 5sin 3 3 cos3y t t  

3

(vi) The velocity of particle executing SHM is

maximum at.

(a) both ends

(b) mean point

(c) near the ends

(d) None

(vi)

(vii) The frequency range of ultrasonic waves are

(a) less than 20 Hz

(b) between 20Hz to 100 Hz

(c) between 20Hz to 20 KHz

(d) more than 20 KHz

(vii)

(viii) The loudness of sound depends

(a) Frequency

(b) Amplitude

(c) Velocity

(d) Wave length
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(viii)

(ix) Refleetion of sound produced from bottom of

a well is a example of which of the following?

(a) Echo

(b) Loudness

(c) Reverberation

(d) None of these

(ix)

(x) The instrument used for measuring illuminance

is called

(a) Barometer

(b) Photometer

(c) Microscope

(d) Telescope

(x)

GROUP B

Answer all Three Questions.

2. Define acceleration. Draw the various velocity time graph
for positive, negative and zero acceleration.         4

Or 

Explain periodic motion and oscillatory motion with
examples.                                           4

3. Define kinetic energy.
The K.E of a body increased by 300 %.How much
linear momentum of the body will increased.       4
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Or 

Explain the representation of work using graph.        4

4. Write the principle on which NDT works?

                                               4

Or 

Define echo. Why echo of short room doesnot

appeared.?                                             4

GROUP C

Answer all Two Questions.

5. First law of motion defines force and second law gives

magnitude of force explain it.                      6.5

Or 

Define SHM
Explain S.H.M as projection of uniform circular motion
on any one diameter.                               6.5

6. Explain the working principle and advantages of
ultrasonic testing method.                           6.5

Or 

Define accoustic of building.

Explain the essential feature for a good acoustics. 6.5

Part II(Chem)

GROUP A

Choose the most suitable answer from the following
options :

(xi) The suitable lubricant for watch is

(a) Palm Oil

(b) Grease
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(c) Hazel-Nut-Oil

(d) None of these

(xi)

(xii) The first synthetic fibre made by man was:

(a) Teflon

(b) Rayon

(c) Polyester

(d) Nylon

(xii)

(xiii) 2 2F C CF is the monomer of

(a) Nylon-6

(b) Silicons

(c) Buna-s

(d) Teflon

(xiii) 2 2F C CF

(xiv) In Daniel cell, when Zn and Cu electrodes are

connected, the electron flows from

(a) Zn to Cu Outside the cell

(b) Cu to Zn Outside the cell

(c) Electrolyte to Zn electrode

(d) None of these

(xiv)  Zn Cu

Zn Cu

Cu Zn

(xv) The process cementation with zinc powder is

known as

(a) Galvanizing

(b) Zincing

(c) Sherardizing

(d) None of these.

(xv)
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(xvi) Iron is made passive by

(a) 3 4H PO

(b) dil. 3HNO

(c) conc. 3HNO

(d) conc. 2 4H SO

(xvi)

3 4H PO

dil. 3HNO

conc. 3HNO

conc. 2 4H SO

(xvii) Bronze is on alloy of :
(a) Cu , Zn

(b) Cu , Ni

(c) Ag , Zn

(d) Cu , Sn

(xvii)

Cu , Zn

Cu , Zi

Ag , Zn

Cu , Sn

(xviii) Fused NaCl conducts electricity because of -

(a) Free electrons

(b) Free molecules

(c) Free ions

(d) None of these.

(xviii) NaCl 

(xix) For reducing 1 mole of 
2

2
7rC O   to 3

rC  the

charge required is:

(a) 96500C

(b) 3 x 96500C

(c) 6 x 96500C

(d) None of these

(xix)
2

2
7rC O  3

rC 

96500C

3 x 96500C

6 x 96500C

(xx) All type of steel contain

(a) Carbon and iron

(b) Nickel and chromium
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(c) Nickel and cabalt

(d) None of these.

(xx)

GROUP B

Answer all Three Questions.

2. What is difference between Metallic and Electrolytic
conduction.

    4

Or 

Describe the manufacture of steel by seimens Martine
open hearth process.                                4

3. Explain the construction and working of leclanche cell.

4

Or 

What are characteristic of good lubricants?         4

4. Explain Arrhenius theory of ionisation.

4

     Or 

What do you understand by corrosion? How It is

harmful for civilisation?

4

GROUP C

Answer all Two Questions.

Or 

5. Write down the names and formula of different

important ore of Iron Discuss the chemical reactions

occuring in the blast furnace during extraction of iron?

Discuss its utility.                                  6.5
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Or 

Give the preparation properties and uses of .       6.5

(i) Teflon       (ii)  Polyurethane

(i)      (ii)  

6. Consider the cell 2 2( )0.1 ( )0.1Zn Zn aq M Cu aq M Cu 

the standard reduction potentiale are 0.35 volt for
2( ) 2Cu aq e Cu    and 0.763 volt for
2 2Zn e Zn  

(i)  Write down cell reaction?
(ii) Calculate the emf of the cell.                          6.5

cell 
2 2( )0.1 ( )0.1Zn Zn aq M Cu aq M Cu   

2( ) 2Cu aq e Cu   2 2Zn e Zn  

(i)
(ii)

Or 

Write notes on any two of the following:         6.5

(i) Nylon  (ii) Fire clay bricks (iii) Thermocole

(i)  (ii) (iii) 

***


